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N.B. .— () Solve question No. 1 on OMR sheet.

(i) Question No. 1 is compulsory.
(i11) All questions carry equal marks.
(i) WA %. 1 B OMR-sheet ITa HiSaam =l 3.
(i) W ® 1 AEE R
(i) | WA HAE O TR
MCQ
1. Solve Multiple Choice Questions :

@) Management Process is ................
(A)  Flexible (B) Inflexible
(C)  Social (D) Political
AT -;r@’)—q-l- .......... 3:“%
(A) oEeh (B)  rcTEfeeh
(C)  wrfSen (D) SR

(1) X’ theory and Y’ theory is introduced by :
(A)  Maslow (B)  McGregor
(C)  Herzberg (D) FE.W. Taylor
‘g erfor ‘u' fagra wroft Aigen ?
(A) WA (B) HRITR
(C)  Bte (D) THRE=Y. R
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Which is not the characteristic of planning ?

(A) Continuous process (B)  Intellectual process
(C)  Physical process (D)  Flexible process
A= @ aftres @ 2

(A)  Taq gfshe (B)  sifge wfshan
(C) IR dfshan (D)  Etas R
Planning is a ............. process.

(A)  Goal oriented (B)  Flexible

(C) Time bound (D)  All of these
ERISE N eI |

(A)  SeREnfE (B) @l

(C) Truiia aRkve (D) TRt wd

Apprenticeship training is related to :
(A)  New employees (B)  Old employees
(C)  Experienced employees (D)  Retired employees

‘foremert wfereror’ oMt wefoq om® ?

(A) Ao =T (B) A HHEER

(C)  ergwel = (D) foa wH=r
Which is internal source of recruitment ?

(A)  Present employee (B) Ex-employee
(C)  Both (A) and (B) (D) None of these
AT WA= #d I AR 2

(A)  =HE HEHE (B) AT HHARI

(C) (A =nfor (B) < (D) =TeRt T
Recruitment of employees through employment exchange is :
(A)  External source (B) Internal source
(C) Both (A) and (B) (D) None of these
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ST FEATAAGR BOMY SHHAL 0T oo ST
(A)  sferda Aw (B)  ffa Hw
(C©) (A sufor (B) <= (D) AT AR
(viit) Line organisation is called :
(A) Military organisation (B)  Function organisation
(C) Employee organisation (D)  Committee organisation
i—@-l- w qﬁ?ﬁ?ﬂ ........... w
(A) T&RA FEA (B) ~HMicHE HE
(C) HHARI HH (D) | g
(ix)  There are .............. types of skill of management.
(A) Six (B)  Four
(C) Five (D)  Three
oe‘lolwlqch’\lq ch\\wlchl_q ................. Th 3:“%?[
A F= (B) =R
(C) ur= (D)
(x) Management development technique is ...........
(A)  on the job techniques (B)  off the job techniques
(C)  both (A) and (B) (D) none of these
HTEAA foepre s 3.
(A) = ®E T (B) @I ®F THAEN T
(C) (A sufor (B) St (D) aleTden! e
Theory

Explain the Henry Feyol’s principles in management.
T HAfA AT AT e T A
Or
(fenam)
What is decision-making ? Explain decision-making process.

froig B0 wue w ? Aol Svah gfwen fave A
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3. Explain importance of organisation.

HoeAd Hee T A
Or
(fenam)
Define decentralisation and state its advantages and disadvantages.

[EETACTE MRS e DA EETEAC | e 0 C R CAR G

4. Write steps of management development process in detail.

I faser wfhan afosR) T &
Or

(feram)

Explain ‘Six Sigma’ in management.

IS g8l famar’ g .
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